Model: Modéle: Modelo: XP3100PW

= Max| QUICK START GUIDE

NEXT GENERATION R0V 3 XSGV 3100PSI Gasoline Pressure Washer

V4 r ) 5 o .
GUIA DE INICIO RAPIDO ot e

PaCkage InCIUdes ¢ Inclus dans @ Install the lance to the spray gun and select and install the spray nozzle to

) A be used for the task. Install the nozzle by pulling the quick connect sleeve
I emba"age * El paquete mcluye (locking collar) back and inserting the nozzle fully and release the sleeve.
Tug on the nozzle to insure it is fully locked in place.

Upper Gun Hook & Lower Gun Hook & Upper frame

2 Plastic Rivets M6 Screw & Lock Nut Cadre supérieur
= Crochet supérieur du pistolet Crochet inférieur du pistolet Marco superior
T + 2 rivets en plastique +vis M6 + contre-écrou

Gancho para la pistola + Gancho para la pistola + M6

2 remaches de plastico tornillo + tuerca de seguridad
@ Connect the garden hose to the water supply and turn on the water for a

j ‘x\,.!,') _ few seconds to flush out any debris that may have collected in the hose.
. “ 7} + =
ofl

Accessory Hook & Foot & M8 Lock Nut High Pressure Hose

2 Plastic Rivets Pattes + M8 Tuyau a haute pression
Crochet a accessoire contre-écrou Manguera de alta presién
+ 2 rivets en plastique Pies y M8 tuerca de

Gancho para accesorios seguridad

2 remaches de plastico

%M < > Connect the garden hose to the pump inlet ensuring the inlet screen and

washer are present.
Spray Gun 5 Nozzles Nozzle Cleaner

Pistolet pulvérisateur 5 Buses Outil pour nettoyer les buses
Pistola pulverizado 5Boquillas  Herramienta de limpieza de

la boquilla
=
s = [ > [

Wand/Lance/Varita Turbo nozzle Quick Start Reference Card Engine Oil Owner's Manual Engine Manual
Buse turbo Carte de rappel du guide Huile a moteur Guide de I'utilisateur Guide du moteur
Boquilla turbo GUIA DE INICIO RAPIDO Aceite de motor Manual del propietario Manual del motor

What you will need: Vous aurez besoin de: Usted necesitara: @ Attach the opposite end of the high pressure hose to the pump outlet.

¢

N\~
Utility Knife Hammer Fresh Clean Unleaded Gasoline ( ) Garden Hose With Water Supply

Couteau a lame rétractable Marteau Essence sans plomb fraiche Boyau d’arrosage et alimentation en eau
Cuchillo de uso general Martillo Gasolina sin plomo limpio y fresco Manguera de jardin

hh ———D0 S————0 —] D \ )

&\ ; Turn on the water supply fully and squeeze the trigger of the spray gun
. . i to purge out any air in the system. (You can do this again just before

Crescent Wrench 10mm Combination Wrench Phillips screwdriver Funnel Safety Goggles starting the engine)

Clé a molette Clé mixte 10 mm Tournevis Phillips Entonnoir Lunettes de protection
Llave inglesa Llave combinada de 10mm Destornillador Phillips Embudo Gafas protectoras

Note: Failure to read and follow the instructions in user manual(s) could result in death, bodily injury,
and/or property damage.

Note: Vous risquez la mort, des blessures et des dommages matériels si vous ne lisez pas et ne respectez pas
les consignes du guide de I'utilisateur.

Nota:El no leer y seguir las instrucciones de este manual(es) puede causar la muerte, lesiones corporales
y/o dafos materiales.

@ Carefully add between 520ml (17.6 oz) of 4-cycle engine oil (SAEL0W30)
to empty reservoir until oil reaches the outer edge of the oil fill hole

@ Attach the foot, install M8 lock nut, wrench tighten until the nut is snug, do not (crankcase dipstick hole).

over tighten.

@ Insert a funnel into the fuel tank and carefully pour gasoline into the tank

@ Install upper frame (handle) onto the lower frame by sliding the handle over the until fuel level reaches about 1.5 inches below the top of the neck.

two upright tubes on the lower frame and pressing down firmly until the handle
is seated and the two detent pins snap in place.

@ Slide fuel valve to the "ON" Position. Slide the choke lever to the “CHOKE” (
Attach the upper gun hook, install two plastic rivets, until the plastic rivets are position.Turn the engine OFF/ON switch to the “ON” position.

snug, you may need to tap with a mallet or small hammer to seat the lock pin.
Attach the lower gun hook, install the M6 screw & lock nut, wrench tighten until

the nut is snug, do not over tighten.

-
DN Holding the machine with your hand, start engine by pulling cord slowly
@ Attach the accessory hook, install two plastic rivets, until the plastic rivet is snug, fa ey until resistance is felt, and then pull rapidly to avoid kickback. Slide choke
you may need to tap with a mallet or small hammer to seat the lock pin. After \ ] lever to"RUN" position as the engine is warm enough to run.
each use of the nozzle cleaner, place it back in the accessory hook for storage. | ) )

Attach high pressure hose to the gun hand tighten. @ If the engine_fails to start‘release the pressure by squeezing the trigger of the spray gun before attempting to
pull the recoil handle again

&N Questions, problems? Before returning to your retailer, please contact our customer service department at 1-800-629-4329.
Des questions? Des problémes? Avant de rapporter I'appareil au détaillant, contactez notre service a la clientéle au 1-800-629-4329.
¢Preguntas, problemas? Antes de volver a su vendedor, por favor péngase en contacto con nuestro departamento de servicio al cliente en el 1-800-629-4329.




